
Dvojný integrál

1.
∫∫
M

(x2 + y2)dxdy M : x2 + y2 ≤ 1, y≥| x |
[

π

8

]
2.
∫∫
M

√
x2 + y2 dxdy M : x2 + y2−2y≤ 0

[32
9

]
3.
∫∫
M

(x2 + y2)dxdy M : x2−8x+ y2 ≤ 0 [192π]

4.
∫∫
M

(y− x)dxdy M : x≤ y≤ x+1, 2x−2≤ y≤ 2x [1]

5.
∫∫
M

x2 dxdy M je ohraničená křivkami : y = x, y = 1
x , y = 2x, y = 4

x

[15
2 ln2

]
6.
∫∫
M

e−x2−y2
dxdy M : x2 + y2 ≤ 1, x≥ 0,

[
π

2 (1−
1
e )
]

7.
∫∫
M

2xydxdy M : 0≤ y≤ x, x2 + y2 ≤ 9,
[81

8

]
8. Uprav do tvaru jednoduchého integrálu:∫∫

M

√
1−x2−y2

1+x2+y2 dxdy M : x2 + y2 ≤ 1, x≥ 0, y≥ 0
[

π

2

1∫
0

ρ

√
1−ρ2

1+ρ
dρ

]
9.
∫∫

M arctg( y
x)dxdy M : 1≤ x2 + y2 ≤ 3, x√

3
≤ y≤

√
3 · x

[
−π2

24

]
Trojný integrál

1.
∫∫∫
M

x dxdydz M : x2 + y2 ≤ 4, z≥ 0, z+ y≤ 2 [0]

2.
∫∫∫
M

x2y dxdydz M : 1≤ x2 + y2 ≤ 4, y≥ 0, |z| ≤ 2
[248

15

]
3.
∫∫∫
M

(x2 + y2) dxdydz M : A2 ≤ x2 + y2 + z2 ≤ B2, z≤ 0, A < B [0]

4.
∫∫∫
M

x2ydxdydz M : 1≤ x2 + y2 ≤ 4, 0≤ z≤ 3− y
[21

8 π
]

5.
∫∫∫
M

24zdxdydz M : x2 + y2 + z2 ≤ 2z, z≤ x2 + y2 [2π]

Nevlastní integrál

1.
∫∫∫
M

xye−x2−y2
dxdy M : [0, ∞]× [0, ∞]

[1
4

]
2.
∫∫∫
M

e−x2−y2
dxdy M : 0≤ x≤ y

[1
2

]
1



3.
∫∫∫
M

1√
x2+y2

dxdy M : 0 < x2 + y2 ≤ 1 [2π]

4.
∫∫∫
M

e
x
y dxdy M : 0 < y≤ 1, 0≤ x,

√
x≤ y

[1
2

]

2


